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QUESTION 1

What is the purpose of the use "command"” In the CLI?

A. Use a specified server pool as the default for all commands requiring a server pool argument.

B. Use a specified virtual machine name as the default for all commands requiring a virtual machine argument.
C. Use a specified user name as the default for all commands requiring a user name argument.

D. Use a specified server name as the default for all commands requiring a server argument.

E. Use a specified group name as the default for all commands requiring a group argument.

Correct Answer: A

QUESTION 2
What is the effect of running a server pool restores?

A. When you restore a server pool, all the data stored In the Oracle VM Manager database isdeleted, and the data in
the server pool master and virtual machine servers is used to restock the database.

B. When you restore a server pool, all servers are removed from the pool, and the data in the database is removed,
restoring the server pool to its initial state.

C. When you restore a server pool, all the data stored in the server pool master will be deleted, and will be synchronized
with the latest information from the Oracle VM Manager database. The server pool master is responsible for updating
the individual Oracle VM servers\\' agent databases.

D. When you restore a server pool, a signal is sent out to each server in the pool, which responds swith the current state
of all of the virtual machines it hosts. This data is used to restore the data in the Oracle VM database.

Correct Answer: C

QUESTION 3

There is an issue booting into a virtual machine. The log files show that there is an issue during the Linux boot process
of the guest. What two methods will best help determine the problem?

A. Use xm console to attach to the guest while it is booting and look for the specific error.
B. Run xm dmesg to see hardware errors in the guest.
C. Run xm info to see the list of devices being attached to the virtual machine.

D. xm block-attach the disk to another virtual machine to inspect the file system and check module loading issues.
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Correct Answer: AB

QUESTION 4

A number of high priority virtual machines require significant file system access and you are trying to decide what type
of memory impact on dom0O they will have. Which two are best practices you should consider for memory use in dom0?

A. You should always run a find command on domO to fill the file system buffer cache for bestperformance.

B. You should not run a find command on dom0O as it will use up Dom0O memory and potentiallycause double buffering
with virtual machines.

C. When increasing load with additional virtual machines, you should always add more memory todomO.
D. When increasing load with additional virtual machines, you generally wont add more memory todomO.

Correct Answer: AC

QUESTION 5

You have a large number of virtual machines that need access to a storage repository. Which answer describes the
factors you use to determine your storage repository strategy?

A. Oracle VM 3.x has multiple identical storage repositories. Additional identical repositories can be added as needed. A
best practice is to select a medium size for the repository

based on your usage.

B. The way to grow an Oracle VM 3.x storage repository is to add additional space to the rootrepository as needed. A
best practice is to only configure additional space when determined it is needed.

C. Oracle VM 3.x has a single fixed storage repository. A best practice is to configure the repository with 30%-40%
headroom for growth.

D. The way to grow an Oracle VM 3.x storage repository is to add sub-repositories beneath the root repository. A best
practice is to provision one or more larger repositories to avoid the management overhead of numerous sub-
repositories.

Correct Answer: A

Explanation: You can use the split technology to split your partitions as a 2 GB space and can define the max size and

when needed Oracle VM can automatically add the more storage there and also you can modify the max size of the
storage repository.
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